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HOMEWORK FOR WORKSHEET 9 MATH 1300 DUE March 14, 2008

1. Use the method from Worksheet 9 to find any non-vertical asymptotes for the function

208 + 2z 41

4 = 2+ 1

?

and explain how you know that your answer is correct. (Hint: Look at parts (d) and (e) of Case 3
from the worksheet.)
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In Worksheet 9 we did not consider the fourth possibility, that f(x) = g% where the degree of
: : T

Q(z) is more than 1 less than the degree of P(z). We examine this case in the next two exercises.

2. Use the same method as you did in answering problem 1 to find any hidden asymptotes for the
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i i i
n f(x)xﬁ-
XT +x £
Yot [ %3t
- R e e e
e T e — |
e
e
AX + |
ax —
3
Nt >
o2 m*\- 52—‘ _ - 9 ’k(_____) e ‘(‘CH\S

‘iM-f)a‘es ‘(’Q/\ezc{‘

£(K\~—§ M e e ixl = pe

?ur‘k\/Qf‘W\oﬁef nwe see {-E,\ggﬂ\

\ Fle
P2 vty I e
X%+ xtd
L x 3

e Aakea bl

Ix(—> vo S

‘ e e
Trpzrﬁ‘(blf:&, m ;\S == 0 Cuf\/iﬁ{fn\/\_ear“

’/”55{ dsp tote  of e




3. Use the same reasoning as in problems 1 and 2 to find all asymptotes for the function
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